B—F(R)
B @ EEst B = > N

452 HXIEIJE 452"? JEE%I:IIFE
&5 BES
EROESE —REE i 4525 E R E®BE TEERERER
BEDIEE GEE)FEAB| TR4F4ASH(—REEDIEE TR4F4ASH BEE1045) EBE(RE)DZUEE EREAFESEE11E
iz =1 dtiEE L EREBETF R iE8271& 1 F E R

& =1 TBIITHEE#ZE 148185 390%20 ¥R Hh

®O® o0 E E 19,211 m # B B % o K M R U & A H
HRIAhTWLS = T £ 13, 100 m RO EBY
X B o & E g &8 E E 11 m

B| #t B hTWVEVVEBOEE 6, 100 m

%

B OB [ 1V 5 bi3 fin )i % e i 1804—MVEAE | 55A—MLLE | 404-FLELIE
gg) = nm : BEOEE BOEE 195-MELE o % (rie  [130-M%kiE | 5540k
E = 1B %L ZE Em G 1B % EREm m| m| m| m)

T - EME | OB M
gq) E 13, 100 o} o| kAaE 8 242 o EES e 64, 811 677, 656
®|2 X & mx | EE [ wu| 5o | B M #
iR BA1E m m £t 64, 811 677, 656
5t 8 242 0 | O o010 BBEEFEREOEE
m P o o = .
%E@ E ﬁ #h 98, 722 m ﬂﬁx[i 'S = D Vil =X {El §i EEIJ\ELE 5 50 m A-Eal— iR
i A m &= & 0 i = :
® B ni o : —
Snu > AR XKE =/ R =
HED [ m m o | #iEReE = % o | ¥ & 30.00m | B P
= ] o fx = it B =
& i B 98, 722 m EDzE T Bm O x B 0 % ﬁgg 6. 00 % & AT
5 =3 i T £ 1= b & bics L % ] B £ UM
= B i3 ~ b * L 15 & i i &%
| &
»
% | ™M . 55—FILELE 4.05—FLELE .
R |P0-hIRLE 0.04— LK 5.54—F LR OIHVA

GO EREROMICIE ZE N EE1ENGEIBREFTOREICEYMOERICEHTIRENEASNIRMOERELEHL . REROHICE. TOMDREDERERHT 5L,



(&)

BREVDAZRPOIIEGHO TEHOME

ER—AEYOBE

BEFNEREDME

PUEZDOMEERLG SAYEOHBE

ZOMIFRRT NEEIE

RE@EDERAB
TH6HF4A1BHET




= =
g& ﬁ E Elj’: =
_ _ —f3EE4 525
& B i = % | & E3
X &l H B > = DB f£3 B B K| FoFRIL] B F | EmMES H EBMER| o | & 32
B O FoRILE
RA52-1/1 - - 2,100 2,100] 2,100 > Bt
RIS INEE 2,100 2,100 0 0 0 2,100
TENThaT 7. 100 7. 100 0 0 0 7. 100
RAG2—1 - - 4,000 4,000] 6,100 FEHR
RIS INEE 4, 000 7,000 0 0 0 4,000
RA52-1/1 .50 — ~ 3.00 750 — 1.50 600 600 600
6.00 - - 1.25 - 1.25 2,046 2,046 2,646
5.50 — - 0.25 - 0.25 198 198 2 844
5.50 — - 0.25 - 0.2 203 203 3,047
= - 10 10] 3,057 F4EE
5.50 — - 0.25 - 0.25 453 453 3,510
- - 16 16] 3,526 HiER e
5.50 — - 0.25 - 0.2 497 492 4,018
- - 13 13 4, 031 X
5.50 — - 0.25 - 0.25 334 334] 4, 365
5.50 — - 0.25 - 0.25 325 325 4,690
- - 13 13[ 4,703 BRF04E
5.50 — - 0.25 - 0.25 562 562| 5, 265
5.50 — - 0.25 - 0.25 471 471 5, 736
RIS INEE 5,736 5. 684 0 57 0 5, 736
RA52-1/1 5 50 - = 0.75 - 0.5 129 129] 5, 865
550 - - 0.75 - 0.75 400 400] 6, 265
550 - - 0.75 - 0.75 1,348 1.348] 7,613
550 - 2.50 - 7.00 - 0.75 197 197 7. 810
- - 72 72 7,882 JEFERE
550 - 2.50 - 7.00 - 0.75 130 130 8,012
550 - - 0.75 - 0.75 400 400 8,412
- - /] 4 8,416 tERB
550 - - 0.75 - 0.75 17,806 1.806] 10,222
550 - - 0.75 - 0.75 643 643 10, 865
5.50 — - 0.75 - 0.75 530 530] 11, 395
= - 14 T4 11, 409 254
5.50 — - 0.75 - 0.75 256 256] 11, 665
5.50 — - 0.75 - 0.75 680 680| 12, 345
5.50 — T7.50 — 1.50 7.00 - 1.00 498 498 12, 843
= - 100 100[ 12, 943 TERE
RIS INEE 7,207 7,017 0 190 0 7,207
RA52-1/1 i 11 = H
11 il 0 0 0 il
Z N 16, 943 16, 701 0 247 0 16,943
[EER T 16, 943 16, 701 0 247 0 16, 943




X & Kk A F

—REE4525

B B — T & i

=3 il B & % B e | B B B B | FoFRIL] B F | EMEX B BNEE| O B 2

8 LrxILA

R452-1/1 5.50 - 1.50 - 1.50 1.00 - 1.00 157 157] 13,100

RN INEE 157 197 0 0 0 157
SENIG S 10/ 15/ 0 0 0 10/
ATt 19, 200 18, 958 0 242 0 19, 200
452555 19, 200 18, 958 0 242 0 19, 200




i g =
— i EE 452 & NO 1
5 & it ER RE BERUER BEER | |MamEl B’ R fis =z
4 B i5 | EMETEBEC 10 (10| PCRZ7 47 20 %%
(7.0) | HEIEERUB ﬂ%@@%
B IR T B | SBETREEC 16 55 = S46 20 z8 HO= MR . F Bdiak
2 B | EBETEREC 13 00 | PCRZ7 542 20 e
. H21 FHEMEE Gafl
M | EETERES 13 (10| PCRZY S44 20 S
3 %— (9.8) | SHERHT = H7 1A B E
% B | RBETRIES 72 55 T S54 20 xE | (TR
B | EBETEEA 4 19 | B = s54 20 EES
_. o H21 FhEEMMERE (M)
HBERERA L, HENLIE HISMEE L
B | BT 100 (9.5) | PCT#r S48 20 we | HIOBMZEE H1BMHER
= S 55 H23 ZEEEfEE. MRS, #BmBAK




